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Which of the states ranked first in the Sustainable Devel i
nt G

2020-21 released by NITI Aayog? ) O.pmen i Indialnges, C \
(A) Himachal Pradesh (B) Tamil Nadu
(C)  Andhra Pradesh ‘ (D)  Kerala Seri |
Y 3T gRT S Tad ey d8T HRd Yhich, 2020-21 # Hid 6 T5T ries '1
TEe AT W &2 |

oo |
(&) IEEIECRCA) (B) dfAdag |
(C) WA (D) & |

Consider the following quote:

“On %6"‘ Jan}lary, 1950, we are going to enter a life of contradictions. In politics, we will have
equality and in social and economic life we will have inequality.”

To whom among the following is this quote attributed?

(A)  Mahatma Gandhi (B) Babasaheb Dr. Bhimrao Ambedkar
(C)  Sardar Vallabhbhai Patel (D)  Lal Bahadur Shastri ‘
ot et W AR &t - '

“253{?{?&,1950aﬁw§aﬁﬁuﬁ$sﬂmﬁqﬂarmﬁmﬁﬁlmﬁmwm
2t 3t Wi ud 3T Siae 3 EAR URE 3T e

et & ¥ Rrae! 28 58101 &1 A & sidr &2

(A)  FElcar e By ATaTaTEd 37, HERd FIEE

(C) TIER dodH TS ued (D) el JETgT AME

The Electoral College for electing the President of India includes which of the following?
(i) Elected members of Rajya Sabha

(ii) Elected members of the Legislative Assemblies of the States

(iii) Elected members of the Legislative Councils of the States

(A) iii only (B) 11 only

(C)  iiandiii (y iandii .
m%mﬁ%wﬁmﬁmmﬁﬁmﬁf@aﬁﬁwemh
()  TSIEHTD fRaid g

(ii) o o R g3t & A FaE

(iii) Tt oy Freret aRwel & forai I FeE

(A)  da iii (B) Hadii
© i 3 - @) i3Tii
' i i 1 Pradesh is . .

’(r/}\l; Statfls\/:)(;;dalolemaCha e (B) Western Tragopan |

© Himalayan Bulbul ' (D)  Great Barbet |
I !

AT T P gafl ) |

(A) e @) T STl |

(©) RrATIA eIl o I GG | -

Who among the following fixes the date of election of the Deputy Speaker of the Lok Sabha

0
(A) The Secretary General of the Lok Sabha

(B) The Protem Speaker of the Lok Sabha

i f India ;
(C) The President 0 _
(D) The Speaker of the Lok Sabha _ e/ 2022-Seres
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Trratarad 3 A et e F SUCTET & AT i A TI HIA 2 C
(=it & R
(B) AHHHAT & MEH T Series
(C) HILA & gAY
(D) WFEHT AT
Which river is the Kol Dam in Himachal Pradesh built across?
(A)  Ravi (B)  Beas
(©)  Sutle (D)  Sainj
TeaTae weer 3 o oy TRy ) W aa 2
(A) Ay (B) TS
(& A o A
B.ecause of_ its high clay content, the soil develops wide cracks in dry season. It is poor in humus yet
highly moisture-retentive, thus responding well to irrigation. Cotton is the most traditional crop
where this soil is found. 1dentify the soil type. '
(A)  Red Soil (B)  Alluvial Soil
© Laterite Soil (D) Black Soil
T3redY et a1 HRTT (clay) Y AET 3T et & T Yoeh Aaa 3 37 e 3 A T U
ST £ mwﬁaﬁmﬁr?mﬂu@mﬁtﬁmﬂwmmtwmmm
AT 3reET UTARFaT S | BT Tl TR FHE b E 76 ey urd S ¥ el &
TeRT T UadTet | '
(A) o B). Sreis faed
(€)  eTrEe e D) el A
. The first 5G call in India was recently tested at?
(A) IIT Kanpur (B) 11Sc Bangalore
(C)  IT Madras (D)  1IT Delhi
I 3 Tadll 5G el o7 arel & 31 TNaTOT ehel foRaT I A2
(A)  3MSHTSE BIEAR (B) ISIETH FIEAR
(o HEIEE AT (D)  EIEE e
is aimed at building an extra decentralized web that puts users in comrpl of
their data and identity.
(A) Web 2.0 - (B)  Web50
(©) Web 3.0 (D)  Web40 e
7 3Eou ah AR ASagd X T & S TR 3 &
erarer 36 forEOT A 7T B
(Ay dd20 (B) ‘21;5.0
4.0
() da3.0 )
. temple built on the edge of the Prashar lake?
What is the arc.hltectural style of the te p(B) Nages
( A) F‘yrarrll(kl1 shaped (D) Cone shaped
(C)  Pagodd .
3C-16/ 9022-5eNe
A Gt
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TR S & Ry a=) w1 Y waraea el = &2 ' C
(A U S @R T (B) @V
©  Yoiar (D) G & IHER & Series
- The Cripps Mission was sent by the British Government to visit India in the year:
(A) 1946 (B) 1935
© 1942 D) 1939
%%(A) Qrm1946 ST Fo8C faverer ot an 3% o7t 3y & v ot avar ar:
) 9 (B) 1935
(& 1942 D) 1939
. Which provisi f i i Si .
e wiﬁ]? 1on of law did the Navtej Singh Johar vs Union of India case of the Supreme Court
(A)  Section 124A of [PC
. B i
©) Eﬁ\?éectlon 66A of IT Act ED; 322222 ?1;; gg :gg
ol mmﬁaﬁgsﬁﬁmmﬁamwﬁﬁmu@m@mﬁw
Ay TSR Y 9RT 1241 (B)  mEdrd &y urT 377

© IR IR A arresr () HTERET hr URT 497

Which among the following books was authored by Mahatma Gandhi?

(A) My Truth . . .
©)__ Hind Swars D Discovry ot nis
TerewTforte 3 & e Wi Qe svercan e 2Ry vt s o
(A) zﬁfr TS (B)  Siraet & fig zfepror
©  fea v ®) IR R
The “Police Commemoration Day’ is observed in India on?
(A) January 15 : (B) November 26
© July 26 (D) October 21
HRA & 'Iiord T e &g Aaman simar &2
(A) a5 (B) S 26
Q7 JAE2w (D)  37agaN 21
In which district is Bandli Wildlife Sanctuary located?
(A) Kangra (B) Sirmaur
(@) Mandi (D) Kullu
dedll aegsid IHARCY foha el & frra 2
(A) s @®) fawER
©— # D) Fed
Which mountain pass provides access between Lahaul and Spiti valleys?
(A) Kugti (B) ghasutri
© Inderhar (D) un.zum
et & Terdl e e 3R Thfa enfet & A ugT weTe Y §?
(A) IR (B) ugd
(©) FaER Oy T
5 _ 3C-16/2022-Series

Page- 3


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

.

For questions 17-19, choose
17. Forty winks
(A)  Sleep disorders (BY Eye sight related issue
©)  Ashort sleep during the day (D) Long sleeping hours

the most appropriate meaning of the following idioms:

C

Series
18. Raise some hackles
(/C\B- To do a great task B)  To annoy
(C)  Tomake someone happy (D) To empathise with others
19. Throw in the towel
(A)  Togive up (B) To resist
(© To have a bat _ (D) To fight
For questions 20-22, choose the most appropriate synonyms of the following words:
20. Shocked
(A) Pacified (BY" Fascinated
(9] Impeded ' (D) Appalled
21. Didactic
- (A) EpﬁgneMng (B) Frightening
(& Disgusting (D) Sensational
22. Spurious
(A) Honest (B) Spoiled
© Counterfeit ) _gp) Genuine
For questions 23-25, choose the most appropriate antonyms of the following words
23. Pandemonium
(A) Noisy (Bl Confusion
© Protest (D) ! Peace
24. Modesty
(A) Granc%eur (B) Sobriety
© Propriety (D¥  Fairness
25. Corﬁise
(A) Brief (B) Lengthy
(C) Abridged (D) Laconic
For questions 26-29, fill in the blanks with the most appropriate word:
26. We must not shy taking risks in life.
(A) upon (BY”  with
(C) 'away from (D) 1o
27. Due to her illness, she could not finish the work time,
(A) to (B) by
(C) upon () on
28. The police was directed to _ hisbusiness dealings.
(A) look on (B)—"look into
(C) look up (D) look to
29. Despite the injuries, Neeraj managed to __the gold medal in the tournament.
(A) pull out (B) puil.oll
(C) pull in ) . (I put in
6 3C-16/2022-Series
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30. Select the option which best expresses the sentence in active/passive voice: - C
1 remember my sister taking me to the museum.

(A) I remember taken to the museum by my sister.

(B) I remember being taken to the museum by my sister.

(C) I remember myself being taken to the museum by my sister,

(DHrremember I was taken to the museum by my sister.

Series

For questions 31-32, select the appropriate option to change the sentence from direct to indirect speech
and vice versa. ‘

31. lasked my sister if she had returned the mobile phone to her friend.

(A) I said to my sister, "Have you return the mobile phone to your friend?’

(B) I'asked my sister, ‘Did you return the mobile phone to my friend?’

(©) T'said to my sister, *Have you returned the mobile phone to my friend?’

(D) T asked my sister, ‘Have you returned the mobile phone to your friend?’

32. ‘Where wil] you be tomorrow’, she said,
(A) She enquired about his whereabouts the
(B) She asked where he would be the next d
¢=) She asked him where he will be the nex
(D) She said to him w}

‘in case I have to call you?’

next day in case she would have to call him.
ay in case she had to call him.

t day in case she had to call him.

1ere he would be tomorrow in case she would have to call him.

33. Fordr quaeHf semar wfea ar.
(A)  FaTae )
©  gue . ® R
34. S et o= 3T wrr .

Ay siftrreen B) © ufaE CE
©  a (D)  TTw

35. Rl T 3o

(A)  furar (B)  gaem

€  fefror B>y et

36. isT 3R Ta & I @ gaE:

(A) AdS @ g

(C)  amygfer (D)  FuaATr

o wsit (37-42) 37 aTey-wWUs & TUTH UT U Qe ERIFY:
37. ST faarsa = forar s ad

(A 3@ted ® dfausT
(C)  3dHE (D)  3wUs

38. STl UgaT dioA 8

R PR
© g D
7 3C-16/202

-Serieg
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39. foeraqds forar e C
(Ay 3T B)  fadaar
(O 3y (D) B Series
40. ‘T T AT AT T’
(A) X (B) & |
© s Oy~ FE
41, TSt 31egera o s g
(A)  3ad B)  3rgg
©) IR (D) AR N \
42, ‘A1t e A U AR A arar-
(A faeEr By Ywiaw
© feafaw (D) arffw
43. STTOT T ST &Y ST 3 RFAT ST wehelr & U A W= e s ot oI & Jar
N AT Tt & forw, forgst urr: HTYT T G417 Fomar Srar &
(A) &, TWACHTAT (B) fafqe, srcarcas
(&Y IOER, ATadIE (D)  HUTAd, HTdTcHE
44. =T & AT W GHRAT Feray ar 379 3
(A) & Alorar (B) WA &

(& &THAT 9 AP I FHar (D)  Orer @reram
45, éaﬁzﬁamudﬂﬁﬁﬁzﬁ%mmﬁﬁm%ﬁﬁm

T% ¥ R SRS See
mmmwavﬁaﬁamm%,ﬁ-ﬁmsg@aﬁfﬁr A et ST I
(A)  faare, aRsmar (B) I, gwar
(@ fasFaan, smepesr (D) fapfa, Rl
46. “3TTERIRT T T FgTay T 31T &
(A) 309 337 g (BY” &g S e
©  wmfg T (D) 3 A IS A
47.Wa@ﬁﬁmmmmmﬁ%:
(A)  gfa (BY/ 3Tds
© waRZ C (D)
48. TAfeatlre et 31 & e 31y oot waiierareh A &
(A & (B) AT
© 3w (D) St
8 3C-16/2022-Series

Page- 6


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

:

.+ 6 appear while writing integers from 400 to 900?
49, How many times does the digit 6 apP (B) 150 C
(A) }2% (D) 200
(©) . i ? Series
100 & 900 A QU forErel FT 378 6 TeheTail A 3Tl &
(A) - 201 (B) 150
() 170 (By 200
50. A competitive examination was attended by male and female candidates. Out of the candidates who
applied 60% are female. 18% of the candidates have passed the examination. 22.22% of the
candidates who cleared are male. What percentage of femalecandidates has not passed the exam?
(A)  76.67% (B) 33.33%
(@) 40% ' ) Cannot be determined
T gfaann alieT # e AR Afeen 3FAgart d #wr foran) Adea wiaare sFAGaRt #
60% FRATT ¥ 18% Soreart = oew seivof &1 ¥ sefiol gl arel seefigant # 22.22% o9 &
foret ufdera Afear seaiigant 3 adiem seol a8 & & '
(A 76.67% (B)  33.33%
©  40% (D) Tauifta & frar s awar &
51 gamesh buys 20kgs of wheat every month for the family. The cost of wheat is increased from
s.14 per }fg to Rs.16 per kg. If Ramesh does not want to increase his expenditure on wheat, then
V‘\z’lat quantity of wheat should he buy after the price increase?
(A)  125kg (B) l6kg
€ 175kg ( 16.5 k
@ oRaR & faw : r
T AT 20 forell A @hear &1 A A FFa 14 T wiy feet § der
16 T0 Uiy fomelt &Y & 718 ¥ aﬁ@wﬂﬁwmaﬁaﬁmmﬁ,mm?ﬁ:%
e 3 fhcell AT # A @hear izw :
(A) 12.-? kg e ' (B) 16 kg
(C)  175kg R . | (D) 165k
52. A train of 150m length travelling at 90 kmph can cross a tunnel of length 250m in. ..
(A) 12 seconds ' _ (B) 15 seconds
(®)] 16 seconds (D) 18 seconds
' 150?haaﬁramém$ﬁwaa9oﬁm’rw%d€zﬁmﬁﬁwmﬁgzsomasimézﬁrgw
(A) 2%z d (B) 15¥F3H
<5 l6dzd (D) 18T H
53. What is the length of the longest pole that can be placed in a room 24 m long, 16 m wide and 18 m
high? ‘
(A) 24 m (B) 28 m
(C) 34 m . (D) 42 m
24 3T 7, 16 FreT =g R 18 AT 5T FAL H TW I HDA a1l T oS TR Y wiars amy o
By 24 (B) 28I
€ 34AR (D) 42
9 3C-16/2022-Series

Page- 7


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

54.

56.

57.

58.

59.
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P .4 -9 Find the radius of the
face area of two spherical balls is in the ratio 4 : 9. Fin C
€ .
T}le Su;)alﬁ if the radius of the smaller ball is 4cm. —_—
bigger ball, (B) _ P
(A) 5cm (D) 9 cm eries

g)m%nﬁwmm4:9$a§wﬁ?:a§rﬁaﬁﬁﬂ

(s T T R Y e A B 4 F

A) S ) 753
o 6w (D) oA
: k so as t
. A fish tank is in the shape of cuboid. Shyam who wants to increase the volume of the tank so as to

0, d 0,
have more fish, increased the length, width and depth of the tank by 10%, 15% and 20%

respectively. By what percent has the tank’s volume increased?
(A) 46.2% (B) 33.1:A>
C)  51.8% (D)  62.0%

TH TSl o HATS & HThN &l B Qtrmah@mmmﬁ$mé?ﬁzﬁrmm
e &, & Y Siars, whers 31 e 3 waHen: 10%, 15% 31K 20% A g dxar gl b b

3TAA A foraa wfaera dr qfig g8 &2
(A)  46.2% 4B)  33.1%
C)  51.8% | (D)  62.0%

James can do a piece of work in 50 days. Peter can do the same piece of work in 40 days. How long
will they take to complete 45% of the work when working together?

(A) 5 days (B) 9 days

©) 7 days ‘ (D) 10 days

SN TH HE Dl 50 @A 3 T Fehelr &1 drex 34 1 A 40 R 3 B TRaT B U WU FIH
A EU 3¢ 45% PTH QI A 3 Rhelell §HT 9o

A) sk=a B) 9ofea
© 7%= @ 1R
The Earth’s atmosphere is mainly heated by? ‘
(A) Short wave solar radiation (B) Long wave terrestrial radiation
(C)  Reflected solar radiation (D) Scattered radiation
Q2 &1 AYHSA HEAT: RrAh gRT 3137 R S1rar &9
(A) g T gk fafesor (B) el &l Tl fafawsor
© Wafda @it RAfkor (D) forer gam fafdweoy
How are evergreen plants with woody stems having naked seed classified?
(A)  Angiosperms (B) Pteridophytes
© Gymnosperms (D) Bryophytes
mmmmﬁaﬁ'mmmﬁaﬁﬁﬁvwmﬁ?ﬁaﬁmm%‘?
(A)  gadrsh (B) cRemwmEew
© et (D)  qAHETH
Which of the following organelles in not found in animal cells?
(A) Lysosome 3  Cell wall
© Endoplasmic reticulum (D) Cell membrane
| o | 3CiB/2020-Serles
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@ A & wia ar SIfRAw 379 S DIRAAHT 3 FE arn sran ¥ C
(A)  CTSEIETE (B) doard
© e geeTd A (D) IR Freed Series

60. The stars twinkle in the night because
(A) They emit light intermittently
(B) The earth’s atmosphere absorbs light intermittently

(©) The star’s atmosphere absorbs light intermittently
(D) The refractive index of air in the atmosphere fluctuates
T an feAfear & wife

(A) A TE-T & BN SRS I &

¢5) el o AR -5 T TR Y FARN A BATE
(C) oY T aTATaROT Th-Fh T BT &l M AT &

(D)  ARHUSH & A & YAl A SAR-TSTd BT TEell &

61. Which one of the following is called the King of Chemicals?

(A) Sodium chloride (B) Nitric acid

© Sulphuric acid (D) Sodium carbonate

AT 3 4 6 a1 T ST Sl ST &2

LAy AfETH FARES (B) ABRE HFA ‘ )
(C) HwgR® IHFd (D) ARTH FEae

62. Vinegar is the trade name for

(A) Formic acid (B) Phenol

©) Carbon tetrachloride (D) Acetic acid

T &1 I AT ATH &

(A) WIS 3Fd (B)  freler

(C) I CCIFARTSS (D) R e
63. Water in plants is transported by

(A) Xylem (B) Phloer.n

(©) Epidermis (D)  Cambium

et % rer o OREEA G R Sl

(Ay wEAH (B)  GellUH

) Ut (D) e
64. During the process of respiration in human beingzi;)hc exg‘“”%‘;i‘;fl fases takes place in

. . ron
O Bronch ©) _ Plauo
S e < a3 e, el ST T
I ()  SfFnIA

(€) FES (—_(J%: ll\sojxv e
65. What is the value of X in the sequence 4@%

(A) 300 ~rte ) 250

(C) 600 . .

" Sq 3C:16/2022-Series
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66.

67.

68.

ﬂ

$hat 40, 20, 20, 30, 60, 150, X 3 X T AT 4T &2

(A) 300 (B) 450

© 600 (D) 250 S
n

Find the next term in the given series 369, 387, 351, 360, 342. . €s

(A) 343 (B) 351

© 363 M T ) 376

<Y I ST 3 31Te uE @t 369, 3 7,35%@_

(A) 343 By 351

©) 363 (D) 376

If in a certain code language ‘FORMAL?’ is written as ‘IRUIXTD,
written in that language?

(A)  EHQWBO (B)  EHWOBQ
(C©)  EHWQBO (D)  EHWQOB

Ife AT g s 3 FORMAL' @t 'IRUIXT" for@r STrar &, ot 3et sy 3t 'BETTER a3y
ferar sreame

(A) EHQWBO (B) EHWOBQ
(< EHWQBO (D) EHWQOB

Information for questions 68-70:

K, L, M, N, O, P and Q are seven students studying in three different colleges X, Y, and Z. Ther
are three girls among them, one in each of these colleges. Two of them study mechanical
engineering, two study medicine and one each study biotechnology, pharmacy and electrical

est friend K who studies pharmacy in college Y. No gil
| engineering. O studies mechanical engineering in collgge
ngineering in college Z. None of the two who are studying
technology along with O and Q.

then how wi) "BETTER: .

WA 68-70 % fAT e

K, L, M, N, O,Pﬁﬁomm%sﬁ?ﬁam-maﬁﬁx,Yaﬂtzﬁumﬁ‘e‘l’ﬁﬁ?
<Y TR R, 79 & e kon 3 s 1 574 4 ) 3o i o gt a3
= TRTEReR 1 Gark e ¥ s o Ao, el sy eafrome SR
(T T 1 M T 310 T 3 ST K 5 rer vl o ey v o kel A1 0

QaqmuNammmsﬁmm‘amaﬁwm—cﬁ%[

In which of the colleges do three of them

study?
A Z (B) v
er- X (D)  None of these
zAA A foh widst 3 15 dia Ued &2
A Z (B) Y
© X (D)  zaAR AR A

12
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e . .
69. Which of the following pairs of students study medicine?

& oL (B) QP
C :
(ﬁ;ﬁ%;ﬁ (D) O, L
& oAt & Bl AT ST RfFewT P HCTTT FAT 67 Series
" e B) QP
(D) OL

©r QL

70. Apart from O, who studies mechanical engineering?

) L ® M
(©) Q (D) None of these
O 3 37aTaT, ARTAF Solfaraiiar i TadT &2
(A) L @ M
© R (D) g A PG A
71. Museum is related to curator in the same way as Prison is related to ?
(A) Manager (B) Monitor
©) Jailor (D) Warden
Wmmm@mm%mmmmm uE?
(A) TEUD () FARASI
© N (D) s
72. Choose the alternative which closely resembles the mirror image of the given combination.
ANSa4a3Q12
ANZREDOT S (2) S FTQERSUA
(3> S2NAEPOST () F SOBEANE
(A) 1 . L ¥ (B)2
(9] 3 (D) 4 -
Wﬁmgﬁmﬁcmﬁm$aﬁmaﬁrﬁﬂ$waf
ANSa3Q12 '
(1) AMNZS P EOT S (2) S roOEPSNA
(3) 2NAEPROST (a) F SOBEANS
(A) 1 (B)2
(D)4

© 3
oudhary and Dr. Zia teach five different

Information for questions 73-77:
four Universities Delhi, Gujarat, Bombay

Five professors Dr. Joshi, Dr. Da
- subjects Zoology: Physics, Botany,

and Osmania.

(I) Dr Choudhary

(II) Dr. Natrajan is neit

Geology nor History-
(I1[) Dr. Zia teaches Physics but neither in Bombay Un

(IV) Dr. Joshi teaches History in Delhi UIniversity.
(V) Two professors are from Gujarat University.

var, Dr. Natrajan, Dr. Ch
Geology and History in

teaches Zoology in Bombay University.
her in Osmania University nor in Delhi University-and he neither teaches

iversity nor in Osmania University.

13 3C-16/2022-Series
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WA 73-77% forw gaen: C
o greeE 3 el . s, o devem, & el s = S aw

forrfarerdt feeeh, (o, @ 3R semfREn # uiw s Rva Series
e, Sy , aereata e, afere 3R s verd ¥

() = gterdy ar Roaferarer 3 wioRrer gerg ¥

(1) ﬁ.maﬁmﬁmﬁmuﬁ%maﬁ%mﬁmﬁﬂmﬁmaaﬁ
=TI e & 3l o & e

() ﬁ.mmﬁm%maﬁaﬁiﬁmﬁaﬁaﬁmﬁmﬁmﬁmm
(Iv) ﬁ.a‘mhﬂﬁﬁﬁmﬁnmﬁgﬁmum%l
(V) aroreans erm Rrfame @ )

73. Who teaches Geology?
(A) Dr Natrajan

(B) Dr. Zia
© Dr. Davar . (D) Dr. Joshi
HIASTTE Pl Ugrar &2
(A¥ &l e (B) = fomar
(C) sreEy (D) sl

74. Dr. Zia is from which University?
(A) Gujarat

(B) Bombay
(8] Delhi (D)  -Osmania
. 31 T o RraRrarer & %
A TERE (B) giw

(C) et (D)  sEAfEan
75. Who teaches Botany?

(A) Dr. Zia (B) Dr. Davar

(©) Dr. Joshi (D) Dr. Natrajan

aeeate fare st ugran &

(A) =% ' <8 zismw

(C) =rash (D) e
76. Who is from Osmania University?

(A) Dr.Natrajan (B) Dr. Davar

(&)} Dr. Joshi (D) Dr. Zia

ST RArRraTerr & #ia &

(A)  SidcSa 687 sy

(C)  siahel (D) =0T
71. )

Which of the following combinations is correct?

(A)  Dr. Zia-Delhi University (B) Dr.Choudhary-Geo]ugy
© Dr.Davar-Bombay University (D)  Dr. Natrajan -Gujarat University
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78. 1f in a certain language MYSTIFY is coded as NZTUJGZ, how is NEMESIS coded in that language?

(A) MDLHRDR (B)  OFNFTIT

(C)  ODNHTDR (D)  PGOKUGU
uﬁ:mﬁf?@ﬁmmﬁMYSTIFYaﬁNZTUJGzasmﬁaﬂﬁ?rﬁmrmia’rmmﬁ
NEMESIS &I hdt ifsd o sream?

(A) MDLHRDR (By~ OFNFTIT

(C)  ODNHTDR (D) PGOKUGU

79. Pointing to a man, a woman said: "His mother is the only daughter of my mother." How is the
woman related to the man?

(A) Mother (B) Daughter

© Sister (D) Grandmother

ww?ﬁrsﬂtamm@,wmﬁm; vy Fi A4 AT B SHear IET &1 Al B

TEY § T HEY §7

(A AT (B) A&

© dg=d (D) - &Il «
80. If M + N means M is the brother of N; M % N means M is the father of N and M x N -

means M is the sister of N. Which of the following means A is the uncle of C?

(A) A%BxC _(B) BxC%A

© A+D%E®C (D) A+F%GxC

ZfE M + N &1 3 N T HS MM %NF HTENT RATMEIRMxNFTHTEN DT a5 M
| Freatafea & O Reaer 32 & fF cam arar AT?

(A) A%BxC (B) BxC%A
(Q—A+D%E%C (D) A+F%GxC

**ii**ﬁi*****#*********i***i**#li*****i’l:'!******iﬁ*********llii*i&

N SEe

g NET Wy sTIITY gy =
N q N= .
) ,,@% —lo~
— ¢ e g,
_ sihe e
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